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LIBRARY & INFORMATION

SCIENCE

PAPER - I

Note :This paper contains Seventy Five (75) Multiple-choice/Assertion and

Reasoning/Matching questions carrying TWO (2) marks each. Attempt All

the questions.
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1. Match the following and select the

correct answer from the codes given

below it :

(©)  Scientific Manage- (g)

ment School

(1)  Classical School

{tif) Human Relations

School

(iv) Social System

School
Codes :

@ (@)
(A) (@) (b)
(B) ) (o)

(Cy (@ ()

(DY ) (d)
- L&LS-HI

®)

(e)

d)

(@)
(c)
(d)
(a)

%)

Elton Mayo

Chester ] Barnard

Henri Fayol

F.W. Taylor

(iv)
(d)
(a)
(b)

(@)

1.

@

(i)

(i)

(iv)

A1 [Qseuia RS i 2ta fsHidl

WAl Gur e 53

AaulRs duendl @ Sleed AWl
EETELTE]

ufEee (R @) AR 2. adls
A Holdl @ &{l3ula

S IMTER N CETRLTES]

ArulEs el @) s, seiey.

EETELTE FACE
SIS

(@) @) @) Gv)
A) @ & © @
B) © € @ (@
C) d @© (@ ®

D © @ ©® @
' [PT.O]



I1dentify the principle of

administration that emphasizes

team work :

(A) Unity of Command
(B) Unity of Direction
(C) Esprit de Corps
(D) Equity

Arrange the following activities in
such a way that it completes process

of information transfer cycle :
({) Acquisition of research reports

() Research and development

programmes
(iif) CAS and SDI services

(fv) Classification and cataloguing

of documents
Codes :
(A) @D, @), (v), ()
(B) Gi), Gio), (), (iv)
(CY ), Gu), (2}, (i)

D) (v), (D), (), (D)

L. &1S-I

2.

At 2 Rgiea »lovll % Huotianl

BuR @il H3 8.

(A) wuzal Asusudl
(B) elzagll-l sisaisuca
() Rudle—t—sid

(D} A3l

A 2B 2l Dl ausdl 3 el

iRl wadic @i sl wlBur yel ay
@ Auiad sl Wl

(i) dslad i Qs sedsi
Gy LB A 3L SLaS. Al
(iv) NAvld lsze A YASR
518 :

(A) (D), (@), Gv), (2E)

(B)Y o), ), @), Gv)

(C) (&), (v}, (i), (zir)

(D) (v, (), GI), i)



5.

Which one is not a characteristic of

primary channels ?

(A) New, original or new
interpretation of known facts

and ideas

(B) Secattered information collected

in organised order

(C) Unorganised and unrelated,

each unit being a separate

(D) Unassimilated into the general
body of knowledge

J. Farradane’s contribution to

‘subject indexing is known as :

(A) Relational Indexing

(B) Specific Indexing

(C) Systematic Indexing
(D) Nested Phrase Indexing

Sociological Abstract is now

offered by :
(A) Springer
(B} Emerald
(C) Elsevier

(D) ProQuest

L&LS-IO
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6.

Al 59 wafs Aqdi-l ene® sdl

A 7

(A) AL, Haold saat Aelldl ded »ia

Rl g duen

(B) dxfavi2 wlRdlh «aqRad s1ai

253d sl

(C) wiqalReid 2t iRAoiAd, HAs vism

WANAL Y2

(D) silA G4SLHL AL AL L 1Y

Gy (REallseanl %, 33s4d el
............ A% iavuy 3,

(A) [Raard HEdls:a
(B) 1Bs HEallsm
(C) RRAdls MEdlsal
M) «xs ¥ HZdllsaw

ARlidimsd Aspse el .........
gl Buasy ay 8.

(A) w2
(B) ¥M2UCS
(C) MedR

D) Misdlee
[P.T.0.]



Identify the statement that is not
true about E-books :

(A) E-books can be hacked

(B) E-books need an equipment to
be read

(C) E-books can allow non-
permanent highlighting of
books

(D} All publishers produce the
E-book equivalent of their print
books

A translation pool is :
(A) A collection of translators

(B) An index of translated

documents

(C) A bibliography of translated

documents

(D) An agency holding collection of

translated documents

Identify the odd one out from the

following -

(A) Planning

(B) Marketing
(C) Organising
(D) Staffing
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10. Identify the format that provides
lossy compression of images :
(A JPEG
(B) GIF
(C) PNG
(D) MNG
11. Match the following related to
classification and select the
correct answer from the codes
given below :
() Canon of (@) Theterm used to denote
Ascertainity a class should be
current
(&z) Canonof () Classification of a
Currency universe should
continue to be
unchanged
(i} Canéon of (e} Classification of a
Saught universe should be
heading definite
(iv) Canon of (d} Helps to determine the
Permanance point of access
Codes :
@) @) ) Gv)
A) B @ @ (@
B) €0 B @
(C) &) @ () (&)
D) @ © @B
L&ISII

10.

11.

)

(i)

(8

{iv)

SRl iRl s:a, 2 G Al
§lM2A vl

(A) F{lSw

(B) 2usuts

(C) vt

(D) Huw

flsa@ doilfa (A Rsedlq A=A
A culden sisuidfl wul Gu2 s
5

MRt (@) a3l sulag e viadn
Sk lg Ada

nul@ddid o) 2irt [Qrad asllsae

YAt »ufRad-afla sig
RAdn

NE (e) 2ttt [A2ad ad(ls2m
Halag UAL55U lg ASA
Yt
Ruaid (@)l BigA ABad s
A HEEIY birg A SA
SIS

@ @) G )

A &) @ @ ©
B) © B (@ @
C) © @ @ &)
M @ ©@ & (@
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12.

13.

In experimental research method
a pretest is administered to

members of :
(A) Only experimental group
(B) Only control group

(C) Both experimental and control
group
(D) To neither of the two

Which are Learning Management

Systems from the following :
() Open Biblio

(ii) Moodle

(iii) A Tutor

(iv) New Gen Lib (NGL)
Codes :

(A) (i) and (i)

(B) (i) and (i)

(C) (iii) and Gv)

(D) (i) and (iif)

L&LSII
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13.

waioleLs dellar el ud usiuell sul

ogueil ol W2 Wl 2 87
(A) wiol MdlPlwA M

(B) ot [RalBaa o

(€) wddruA »id FaBid o el

(D) oirHiedl 5185 ga el

Adneiefl 56 alia Adoriee ugliail 7
G)  2liu- [Gedlai

() ¥sa

(i) . 232R

(iv) -y ¥ dlot

s1S :

(A) @) and (i2)

(B) (ii) and (i)

(C) (i) and (iv)

(D) (@) and (i)



14,

15.

DDC Scheme frequently denotes a

division or section as ‘Others’ to

divide a set of coordinate classes.

Identify the canon that such a

division attempts to satisfy :

(A} Canon of Exclusiveness

(B) Canon of Helpful Sequence

{C) Canon of Exhaustiveness

(D) Canon of Relevant Sequence

Identify the topmost layer of the OSI

model among the following :

(A) Network Layer

(B) Transport Layer

(C) Presentation Layer

(D) Application Layer

L &LS-I

14. <1813, wgld @iaiz yxiaz w2l

15.

[Qensa “wad’” (1-41) @3l Gedw
sv 9. LAl 2 WL [Asuga
Acdivg Guyat vl -

{A) udl Guya

(B) delussmd Guyat

(C) Fuavale, Guyst

(D) YoM Guyal

A&l 2iANUS Hised gl G
AR Y O o AL

(A) H2ad xR

(B) 204U R

(C) Upreur R

(D) Hiveflsa- 2R

[P.T.O.]



16.

17.

18.

In which of the following methods
observed data are transformed into
sets of symbols such as words,

themes, motives, concepts etc :
(A) Case Study

(B) Content Analysis

(C) Community Survey

(D) Delphi Method

Identify the example of Equivalent

Relationship :

(A) Cooking — Baking

(B) Soil erosion — Deforestation
(C) River — Sabarmati

(D) Footpath — Sidewalk

In Colon Classification digit ‘5’ is
used as mnemonic for energy, light,
water, aesthetic, women etc. It is an

example of :

(A) Alphabetical mnemonics
(B) Scheduled mnemonics
(C) Seminal mnemonics

(D)} Syntex mnemonics

L.&LS-III
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16.

17.

18.

{lanidl 5§ ualadi MRea s3al Said
aoel [AMudry, GEsul, Roda-uzl adll
| Asuzini wlalda 31 samii »ud
£

(A) 5o sl

(B) [Quuazg [Qsdna

(C) uyelu udaw

(D) &esl ugla

AHIR Gl Bele@A Al
(A) g8l — ogla

(B) ol dlam — a+—ieyel
(C) gl — anrHdl

(D) gewia — A1S9S als

siar sARflglEaAMl s B AL Guai
WlBa, usta, well, Adled, w{l @9 e
A delus Ad sl 9. d JAnmie

4 GelelRl 6.
(A) aelgsn A ws1asdl
(B) sisod By Aeusdy
(C) cudlets Byld Asiusdl

(D) curus Ala Aslusdl



19. Assertion (A)

20.

:+ Calculations
performed on grouped data are not
accurate calculations

as as

performed upon the raw data would

be.

(R)

Reason Because

representation of data in a

frequency distribution invariably

results in some loss of information.
(A) Both (A) and (R) are true
(B} (A) is true but (R) is false
(C) Both (A) and (R) are false
(D) (A) is false but (R) is true
Impact factor is used for :

(A} Evaluation of a journal

(B) Author productivity

(C) Evaluation of an information

retrieval system

(D} Evaluation of websites

L&LS-M
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19. 58+ (A) : A3l 521 Gur sl aaasl

20.

siedl Wissu el eidl Fedl uBu @

serr{l 2d?] e .

513%™ (R) @ 51281 3 2ddd [Qde g2l
Bl 2ot dian Jedls Rl 19él

wefl sl 0.

(A) 61 (A) 211 (R) WU 8
(B) (A) A & uid R) WE ©
(C) % (A) 2 (R) Wil &

D) (A) vig & uig (R) Wy 8

‘Srlse 35237 st GuYdL AL MR

sami »ud ®7

(A) ARAS Yeuis

(B) sdl-l Gouenaia

(C) *uladl yr:aulid yelisd 1@{‘[&-1

(D) dsiRuden Hedis
[P.T.O.]



21. Which protocol helps in searching

22.

23.

and retrieving information from

remote computer databases ?
(A) SMTP

(B) Z39.50

(C) FTP

(D} Telnet

Another name of Bivariate Graph
is :

{A) Polygon

(B) Histogram

(C) Pie-chart

(D) Scatter Diagram

‘R’ is a software useful for :

(A) Statistics for Librarians

(B) Library Automation

{(C) Library Budget

(D) Periodical Subscription

L&IS-IT
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21.

22.

23.

Qe syze Sadimiell uRdl dina
2 YrlMId SRl 5L WI2Isle HEB3W A
& ?

(A)

(B) 38 3t.uo

(C) wigdldl

(D) 2awe

o2 s ofly U
(A) wdloin

(B) Relsum

(C) ws—=ué

(D) Wez sl

W UL ... W2 Gualall 8.
(A) A=l 2 2issila 1uledl

(B) 3daiay uil5slsm

(C) @y o2

D) WwxAs qaru



24. Cultivation theory developed by 94, wilef aei2 gat s wAd

George Gerbner in its most basic
sedldgirt Bull dnt Henl yooed
form is related to the cumulative

. _ 13 55 AR w2 AoilAd © ?
impact of :

(A) Television on our entire culture (A) 2usll wux dxgld R 2l

(B) Radio on our entire culture _ A
(B) vuusll w3 dgld uz (A

(C) Internet on our entire culture

(€) »uuall w3 Aagla wr Sreanie
(D) Book reading habits on our

culture M) el qgld W sy @uq 29
25. Delhi Public Library was : 25. [Bedl ybas ardndl :

(1) Established in 1956 as a (1) eusHl 43 sl 2udl.

(2) Pilot project sponsored by (2) yisidl wuaiz wigse @3l
UNESCO wlwd ol

(A) Both (1) and (2) are true (A) (1) a (2) oA w8

(B) Both (1) and (2) are false (B) (1) A (2) oinl wiel 8

(C) (1) is true but (2) is false (C) (1) W3 & wig (2) vig ®

(D) (1) is false but (2) is true D) (1) Wi & uig (2) Wy &

L.&LS-II 13 [P.T.0.]



26. An engraving by Phillipe Galle
adapted from Pieter Brueghel’s
tempera painting ‘Death of the
Virgin’ would be entered in the
main entry according to AACR-.2
under the Heading :

(A) Galle, Phillipe
(B) Brueghel, Pieter
(C) Death of the Virgin
(D) Tempera Painting
27. What is CDS/ISIS ?

(A) A word processing software

(B) An information storage and

retrieval system
(C) A spreadsheet

(D) A programming language
L&LS-II

26.

27.

14

Q2 sydtedl 2vARL A2 “Bu wiis
9 qigpn’ Gudl dami 2wde Blay
Afearil Asllsin sl.a Al M- 1
e AduL (o HAla) vi suL v dsn

gl suas :

(A) A4, [Bly

(B) £4dla, (ex

(C) 5 {5 4 4w

(D) 24U UG-l

CDS/ISIS g 9?

(A) a$ WAL Hisedr

(B) ladl Ane ¢ ytula gl
(C) wsglle

(D) s1dss v (Programming

Language)



28.

29.

Arrange the following classification
schemes according to their year of
origin starting from the earliest to

latest :

@

Colon Classification
(if) Broad System of Ordering
(¢ii) Dewey Decimal Classification

(iv) International Coding

Classification

Codes :

(A) (1), Gu), Gid), (@)

(B) (iv), (iid), (i), (i)

(C) ), @), ), (D)

(D) (@), (D), @), iv)

Which of the following is ¢rue about
Patent ?

(A) To get a patent, it is not
necessary to disclose any
technical information about the

invention.

(B) A patent granted by a country

is valid in all countries.

(®))

Patents are granted for an

unlimited period of time.

(D) A patent is a right granted for

an invention.

L.&LS-I
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28.

29.

Al qallsan waldulia d=u Gepiasy

w3t Al edndl e Al

@) sian seullFiuq

Gy s Hlew s s

(i) sy Sllva saullZian

(iv) S-eauna sislol sl ium

DR

(A) @), (v), GiD), @)

(B) (@), Gii), @), &)

(C) (), ), Gu), (i)

(DY (i), (iEL), (@), (v)

s wss Adeif Al g wy 87

(A) 2152a 855 AUl M Al oid
519 cs{14l uladl aguadl #3301 &l
sidl

(B) 3L U gLRL BMAUM 29d B

855 6lH1% UL HIRL sl 8

(C) »is 55 vallRd ady we

UM U 8

(D) »i52q S5 AU HEA HINAMI VULl

855 oid 6
fP.T.0)




30. A router :

31.

32.

(A) Forwards data packets between

telecommunication networks

Receives a and

(B) signal

retransmits it at a higher level

(C)

Helps you interface with

another nétwork
(D) Essentially translates protocols
Library Legislation is needed for :
(A) Library organisation

(B) Providing effective library

service to citizens
(C) Cooperative cataloguing
(D) Library centralisation

Which of the following is a popular
full text database in Library and

Information Science ?
(A) ERIC

(B) EBSCOE

(C) Emerald

(D} Ingenta

L.&LS-II

30.
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18

:UBeR

(A) %2 Mudr Aedf 92 $a1 Ukeun
yisd B

(B) Rord Hid 5% 6 vin G2 sau
Ad Y- ded 53 9

(C) aHl e H2ad R ASUHL Hee
53 9

(D) wlAudud wizistiedud 3ufia 52
2]

AUy WL ... "2 %3%l 9.

(A) slalay sy

(B) o251 1518 slaiay Al

Y3l uisen e
(C) aest?l yRAsm
(D) gy s

Al2rrnie] sl daney 240 WSl (@il

disBiy wel wsy s 8.
(A) s

(B) 2lousl

(C) xMRUeS

D) S-%-al



33. The subject ‘Wages for women 33. ‘Wages for Women workers’ {auu-ti

workers’ is formed by : L AC CINU WEaell w8,
(A) Loose assemblage (A) ([aa s

(B) Lamination (B) 23lsra

(C) Fission (C) {aw9e

(D) Fusion (D) it

34. Match the following in the context  34. wdls siay aiu deelu A

of Public Library Act and select faseyl sl Q;t:t el asHidl wl
the correct answer from the codes Bz e 53U
' bel it :
given helow 1 (7} A=A (@) 2001
(i) Rajasthan @) 2001

(i) HeRy (b) 1993
(i) Maharashtra (&) 1993

(iid) %d () 2006
(2t} Gujarati () 2006 .

(iv) 24l (d) 1967
(iv) Goa (d) 1967

518 :
Codes :

@ @ @G ()

@ @ @ Gv)
(A) (@ () & (@

(A) @ © & ()

B) ) © @@ @
B) & © @ (@

€ @ @ @ &
(C) @ @ @ B

D) @) @ © @®
D) & (@ (& (&)

L &LS-I 17 [P.T.0.]



35.

36.

37.

Which of the following are replaced
headings as per the Sears List of
Subject Headings :

(A) Videodiscs, Hypertext
(B) Soviet

~ Organizations

Union, Charity

(C) Hyperlinks, Global Warming
(D) East Indians, Greenhouse effect

In scientific communication Peer

review refers to :

(A) review of books and reports by
peers after they have been
published

(B) review of papers by peers prior

to publication
(®);

evaluation of scientists for

purpose of promeotion

(D)

an article which reviews other

articles

If the value of even one datum is
in extreme as compared with the
remaining data, it can substantially
affect the value of :

(A) Mode

(B) Mean and Mode
(C) Mean

(D) Median and Mode

L&LS-I
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35.

36.

37.

Qi s waon Ay e »is

Ao se SSA QAR HEAML 5.
(A) dlglal Slas, slav2sn

(B) U[aud y[an, A4 2030usRun
(C) swvrdlsy, sdioa ailial

(D) O Slesuru, A 16y 9352

Qs wuaAdl Rt Rey Red

(A) usilid 2wyl ugl st w4
sdatdl-{l ¥Hs8 ABdl (peers)
glat srant »udel y{lan

(B) Avil wstld au wddi anssy
Bl gLt s2a 2uddl alay

(C) Meliltirl &g H12 daufsis yeuis

(D) a4 dw ¥ oflo anil qlen eafad
Sl

A Ay el 25 weL Bansd e

o5l el S21 sl vcilds Sid dl A
U Hedn AU AR $3

A) sgds
(B) AU 2 oigds
(C) wiry

(D) Meus w1 olgds



38. Identify

the

non-probability

sampling from the following :

(A) Systematic Sampling

(B) Cluster Sampling

(C) Snowball Sampling

(D) Multi-Stage Sampling

39. Match the following and select the

correct answer from the codes given

below :

() Koha

(E) D-space

(i11) WINISIS

(iv) Moodle
Codes :

()

(A) (c)
(B) ()
C) ()

(D) (@)
L &IS- IO

(¢) Information

(b)

(c)

(d)

(if)
(d)
(e)
()

(@)

Retrieval

E-learning

Integrated Library

Management

Digital Library

(i)
(a)
(d)
(@)

()

(iv)
(b)
(a)
(d)

{¢)
19

o lAanmiEl Bia—-dei@d Ay uglan

il

(Ay vglauzl -y ugld
(B) o9 3yl uald

(C) =l elld ¥ ugld

(D) Hedl—=R% AL ugla

39. (A QAsedid St vA vule sisHiel

AL Gz wie s ¢

58l (@ dsiu
[Ra1dad

SEDE] &) S-alfal

[Guddl () 5-dblks awsal
Heoiv2

Ysd (@) [Soflea aarl

5lS :

@ @ @) ()
A @ W@ @ ()
(B) ) © @ (o)
C) @ & @ @@
D @) @ G @

[P.T.O.]



40. Taxonomic relationship indicates :

41.

(A) Co-ordinate relationship

(B) Genus-species relationship
(C) Associative relationship

(D) Non-hierarchical relationship

Which of the following is not a
recommendation of the National

Knowledge Commission {India) ?

{A) Preparation of a National

Census of Libraries

(B} Encourage greater community

participation in Library

Management

(C) Raja Ram Mohan Roy Library
Foundation to act as National

Co-ordinating Agency

(D) Facilitate donation and
maintenance of private
collection

L&1S-1d
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25l Aeial cala ©.

(A) HHUSH—oiY
(B) u—emld 2eig
(C) ¥gl AUoly

(D) [Bir—cdaudsu

Aadd 14y shad (SHEsu) A

AAmicdl 59 Maa 530 44?

(A) il gl sl AR sl

(B) ey AAAAHE HI2l dHel ollol

A a W2 wldd s:al

(C) 2o AMMien 1 ddal 5163

2 Ase A=l als 0B daradl

(D) 2191 A8 HI2 it 24, el Hie

alanr 3y wedl



42.

(id)

()

(i)

43.

Match the following and select the
correct answer from the codes given

below :

Biographical (@) World of Learning

Source
Directory (5) International Who's
Who

Benet’s Reader’s

CGeographical (c)

Source Encyclopaedia
Literary Guide {(d) Fodor's India
Codes :
(0
(a)

@) @)
(b)
(a)
(d)

(c)

(iv)
()
@)
(e

(A) {c)

(B) (e} (d)

C) & (@

D) d @) (a)

Who defines “Knowledge is a sum
total of information conserved by

civilization” ?

(A) J.H. Shera

(B) Dr. S.R. Ranganathan
(C) Fritz Matchulp

(D) F.W. Lancaster

L&LS-II
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42.

()

{if)

(éi)

{iv)

43.

Al Riseyi st »in 2udd sisHidl
AL By uxds 53l

A ALNS @ aeS s dlaL

20lidl

[B3s2¥l ®)  Srerund gy
)

ollofif&s wlidl (@ oiried Kls
Pt st Byl

ui(elcus @ sisd dhsu

wale At

sls

@ G G (o)

(A) @ © ) (@)

B) () @) f{a) ()

) B @ d ()

D) @) B (e} (@)

‘Slrl M MM ASUAL gl gnaddl
ilRdldl Al 97 vl vy S8 s

-

9 7

(A) .23, A

(B) Si. .23, Lol-las
(C) (3w Haau

(D) 2l5.5016y. dwex
[P.T.0.]



44,

45.

46.

Statement (1) : The h-index of a
scientist 1s 10; 10 of his’/her papers

have at least 10 citations each.

Statement (2) : h-index is the only
measure to assess a researcher’s

output.

(A) (1) is false but (2) is true
(B) (1) is true but (2) is false
(C) Both (1) and (2) are false
(D) Both (1) and (2) are true

Dissertations Abstracts International
is published by :

(A) The British Library
(B) Library of Congress
(C) R.R. Bowker

(D) University Microfilms

International

A professional association should
primarily :
(A) Function as a trade union

(B} Work for the development of its

members
{(C)} Undertake teaching

(D) Serve as an employment

exchange

L &LS-II
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44.

45.

46.

[t (1) : 218 AsAsl Ha-9-54 10
9. dM-i/asill 10 @uiiyy B9 251
0 S .

st (2) : Anissl 2824 2isan
SRl HIZ HA-DSH % V& Mol HIYS
Guesy &,

(A) (1) Wi & uig (2) Wy B
(B) (1) Wy ® uig (2) vig &
(C) o= (1) 27 (2) vial &
(D) ol (1) 2 (2) W B

‘Sudur kg sey Sredudd’ -l

TETRES, B TR

(A) Hdu aidaRl
(B) asel wis sidx
(C) 2UR.2UR. 61B4R

(D) y[aRd wdsiBoy Seduna
AR5 sadl wabisal g i ud?
(A) a?l Adsd a3 sid s3g
(B) a-ii uodidl s e sid 539
(©) Reamsd ey ur vy

(D) oduz ARHY 403 Al 2uudl



47. Match the following and select the

48,

correct answer from the codes given

below it :
(f) AGRIS (@} IET
(i) INIS b) IFT
(uit) IFIS (e} FAO
(iv) INSPEC (d) IAEA
Codes :

@ @) Gh G

A @ @@ b @
B @ @ b)) @
€y @ W @ @@
D) @ @ &) ©

Identify the correct sequence that
indicates the four elements of
group 1 in FRBR model :

(A) Manifestation, Expression,
Work and Item

(B) Item, Work, Expression and

Manifestation

(C) Expression, Manifestation,
Work, Item

(D) Work, Expression, Manifestation
and Item

L&LSII

47.

48.

AL [Qsewid RS wd 2ule sisHiE
A Bz wbe s3

CIIEEPIE] (@) udtél
(@) S ) 2ussdl
(iii) S8l © Al
(iv) S=uls (@) 2055
$ls :

@ @ G G

4 @ © G (@
B) @@ @ @) (@
C) @ ) © (@
D d @ B ()

disuefalz Hdd-Yu—1 -4l R

dcdiril AlAL s Al ¢

(A) ndlse, w™Maldd, 5@ wud
A3l

B) anal, g, wudAld -
EARERE]

(C) n[Realia, undlszat, gld -
il

D) 5[, wdealia, wsdlsra v
el

(P.T.O.]



49.

50.

51.

LISA was initiated in the year :
(A) 1960
(B) 1969
(C) 1980
(D) 1989

Identify a consolidation service

from the following :
(A) Sociological Abstracts

(B) Tribal Development in India —
A Trend Report

(C) Humanities Citation Index
(D) University News

Which of the following are not

reference services ?
(¢} Preparation of user profile
(zz) Initiation of freshman

(zif) Compilation of document profile
(iv) Readers’ advisory

Codes :

(A) (iii) and (v}

(B) () and (&)

(C) (i) and (iiD)

(D) (£} and (i)

L&LS-III

49.

50.

24

eflaudl w3id {3l sral

w19y, :

(A) 1960
(B) 1969
(C) 1980
(D) 1989

Al 14l Flé].!s%lal (consolidation)
Ja wtiav] :
(A) ARidizsy se2sy

(B) 2190 Saayi-2 S« lrsul —
26 Fuid

() gR-ldn wdead S8
(D) yalidl

Q] 56 AeolAail Al?
() Guoeilsdl Uisidd dur sdl
(fi) AAPigsd ABA

(i) MW Wis1da Asan

(iv) AlASiL YA

1S

(A) (iir) and (iv)

(B) (i) and (ii)

(C) (1) and (i)

(D) @) and ()



52. The formula for measuring the

precision ratio is :

(A)

(B)

(C)

(D)

Number of relevant items
retrieved/Total number of

relevant items in the collection

x 100

Number of relevant items
retrieved/Total number of
in the

irrelevant items

collection x 100

Number of irrelevant items
retrieved/Total number of
relevant items in the collection

x 100

Number of relevant items
retrieved/Total number of items

retrieved x 100

L &LS-II

52.
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ALSULY UHIE HU 54l MY Yot

(formula)

(A)

(B)

(C)

(D)

Wit yAd Yaoud -l dvafsd

dAsHl Guasy Ao sl

}uyl x 100

Uit e YA AL dva/ge

AAUSHL Guasy A Al

¥uyl x 100

Uit ¥dd dyAd  AA-AL

Avuyge AALHl Buasy Yuad

(Al Hval x 100

MLt 3ae YA Al dva/ge

Wi, ydey AL dvar x 100

P.T.O.]



53.

54.

Which of the following is not true

about the concept of Information
policy ?
(A) This concept is limited to

Library and Archives Policy

(B) It is a relatively new area of

policy concern

(C)

It can have a huge impact on
events and policies in other

arcas

(D} It is a problematic concept

intellectually

Which type of abstract provides
a summary of the conclusions

reached :

(A) An indicative abstract
(B) A slanted abstract

(C) An informative abstract

(D) A critical abstract

L.&1.S 10

53.

54.

26

w8l ol [acya- (s A-uxidl g

Yy Al ?

(A) U [Qouadl ey v w[aw

AR w2 HallRd ©

(B) a Wl la Ageilad g &@x &

(C) d - 8-l geris axa @il

Guz M w1z s W B

(M) cillgsud d Mgy Qeuau 8

541 WAL AR Mrd s3al Foessiq

A euld ©?

(A) MRdlyus A (An indicative
abstract)

(B) -2 U (A slanted abstract)

(C) slediue AR (An informative
abstract)

(D) [dda-icus AR (A critical
abstract)



99.

Match the following and select the

true answer from the codes given

below it :

(6)  Public Library (@} K.D. Metealf
extension activities

() AcademicLibrary () M.A.Gelfand
Management

(fi}  University Libraries (r) R.L. McColvin
for Developing
Countries .

(v) Planning Academic (@) M.B. Line
and Research Library
buildings
Codes :

@ @ G (v
(A (@0 @ ) (@
(BY (0 ) (& (&
(C) @ &) (o) (d)
M) @ ®B) @

56. According to AACR-2, Physical
description about a document in
catalogue entry is called :

(A) Imprint
(B) Collation
(C) Additional useful information
(D) Specific details
L &LSAI
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55.

)

(i)

(i)

(iv}

a6.

(AL [Qsedid RSt wa 20 sisHidl
HAL G WAe 53t ¢

wdafis dwdn @ 3.9 Nesis
(et ugltt
ey ey @) WU, eSS
Al
[saicll Bt w2 © BUR. A,
[Rralaeiay Hgsledit
sl
RalRus v A @ ol it
slaley Hastld
L]
515 3

@ @) G Gv)
(A) (e} (d) (b) (a)
(B) (¢} &) &) (&)
€ @ @& (d)
M @ & © (@

doot Al wu. - e YA davi
ydudr ofifas asidd sul el
VO AIHL U D7

(A) 9l
(B) sida
(C) Guyidll MRl GAwt

@) QAlwee Aaal
[P.T.0.]



o7.

88.

A Gazette gives information about :
(A) Places to visit

(B) History of places

(C) 0Old records

(D) Official announcements and

notifications

The Library of Congress established

in 1800 :
(1) got burnt down in 1814
after that

(2) soon George

Washington offered his

personal collection to the

library
Statement :
(A} Both (1) and (2) are true
(B) Both (1) and (2) are false
(C) (1) is true but (2) is false

(D) (1) is false but (2) is true

L &LS-II

57.

b8.

28

AL el 2ud 8.

(A) Halsid 12l @l

(B) Radil Slawiy

(C) ot MAMl

(M) A5 GeaivRuAL 2 NS

AdA] »lis sisladl 2@nundL 1¢00 i

sl Ul edl
(1) ¢y ML sl edl.

-

(2) AURWAE dd % wU% dRiser B

ldlrl 2001d dY AU AalduA

TN
Qe -
(A) (1) 1 (2) oin i B,
(B) (1) A (2) oind viel 8,
(C) (1) Ay & 4ig (2) ¥ &

(D) (1) wig & uig (2) w3y 8



89.

(0

(@)

(i)

{iv)

60.

Match the following and select the
correct answer from the codes given

below it :

Lamination fa) Epistemology

Fission (b} Research Methodology

Distillation (r) Indian Constitution

Agglomeration (d) Social Sciences

Codes :

@ @ @) ()

A) (@ (© B )

B © ww & @

(C) B @ (@ (e)

D)y @ ) (@

Which of the following is not a

secondary source of information ?
(A) Indian Science Abstracts

(B) Library Literature

(C) Library Quarterly

(D) Dissertations Abstracts

International

L&LS-II
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59.

(£}

@)

(at)

{tv)

60.

Al Rsediq Asl v »ule sisHidl

HAL Bz vde s

ENEIEE @ WRReMial
{aci ) [Ru3d Aalisidio
(M2 () Slsun sieudleyun
AsBSW (@) AHEHE A
sis :

@ @ G Gv
(A) @ (@ B ()
B) () (@) (b)) ()
€y b @ (@) (o)
D) @& ) © (o

A-unidl sui ety saudl WRdl #4iq

+4l?

(A) SFsUA AW BoY2 5
(B) aval [Eeur

(C) add{l saezd)

(D) Sr2uA woARsed Gravune

[P.T.O.]



61.

62.

63.

L&LS-I

The National Library of India was  61.

earlier known as :

(A) Asiatic Society Library
(B) Connemara Public Library
(C) Imperial Library

(D) Lord ,Curzen’s Library

Sector device helps in making §2.

classification scheme more :
(A) Enumerative

(B) Hierarchical

(C) Hospitable

(D) Faceted

Bocks misplaced on the shelves by 3.

the readers are restored by staff.

This work is known :
(A) Shelving

(B) Shelf rectification
(C) Stock verification

(D) Shifting
30

el NN dy usai suu Al
iavld sd?

(A) ARAs ARUA asa

(B) sl uBas aSa)

(Cy $lilRud arsal

(D) al$ sdhu adazl

adlseel ugld am . ... .. £341H] viS

Ylid ASU3W o1 B,
(A) ey

(B) darslis

(C) Awidsila

(D) yusla

sl gl §A5 YR vidl woull ysdal
sialt sl glal §31 wioy U

yequel sl L. ol o] »1q

8.

(A) sas uz-l 2lisqel
(B) $as yuis

(C) 3lu Aaquell

(D) 22 4] wadsa



64. Which Theory of Management

65.

66.

School of thought considers every
employee as a unigue socio-

psychological being ?

(A) Scientific Management Theory

(B) Classical Theory
(C) Human Relation School
(D)} Systems Theory

Which of the following is not a

National Library ?

(A) British Library

(B) Bibliotheque Nationale, France
(C) Library of Congress

(D) Bodleian Library

Identify the law that helps in

reclassifying the books of a library :
(A) Law of Osmosis

(B) Law of Symmetry

(C) Law of Parsimony

(D) Law of Impartiality

L &IS-III
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64.

65.

66.

56 Ay [BaR el 4As siula 2
[Alde arulys — d-dldaifs il

glaqx als s @?

(A) AA<1Els A2 dlud
(B) saufise Bazl

(C) gu-l A g

D) Ry RyR

Al sy anfta slnan «l?
(A) By adal

(B) Bedlwiads duna, sin

(©) Adazl »is Sd

D) sidlRaq wse

Sleetysdl Yeisil Yz alls ez L

S8 HEEZW Ot ) dnl Ll
(A) [HAeAL S1HEL

(B) UMl SIUEL

(C) s35u3l s1u8l

(D) d2udidl sluel

[P.T.O.]




67.

68.

69.

@)

According to Maslow the need
for self-respect, achievement,
competence, respect from others
and recognition is :

(A) Safety and security need
(B) Social need

(C) Esteem need

(D) Self-actualization need

Who authored “The foundations of
education for librarianship’ ?

{A) S.R. Ranganathan
(B} Michael Gorman
(C) J.H. Shera

(D) W.J. Murison

Match the following and select the
correct answer from the codes given
below it :

Maslow (@) Hygiene factors
(1) MeGregor (b) Maturity/
Immaturity
(izz) Argyris {¢) Theory X and
theory Y
(iv) Herzberg (d) Hierarchy of needs
Codes :
@ @ G G
A) @ © O @
B @ ©@ ®
© © & @ @
D)y &) @ @@ ()
L&LSI0
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67.

68.

69.

@
(i)

(i)

(iv)

HiReliAdl M ool 2y Ayl WA,
@le, wual, vl 3lRuid wia 2lny,
3

(A) Heundl » yraudl w3lRud

~(B) "rulFs w3lua

(C) M 28wt o3ad
(D) a—alisu-l %3(2ald

“The foundations of education for
librarianship’ -l @ws siat &7

(A) 2R, Lonlen
(B) [sle oliriq
(C) F. 2. AL
(D) sotey. %, A

A [Aseuin 2Ast v 2ulen sisyiyl
UL Gz wdE s

Hizal (@) sl 352

AR ®) A
BREIELF]

AR ©) Ru X »n
Aul Y

wopeL] (@) dul iz sy

51 :

@ G @) Qo)

(A @ (@ B) @@

B) d @ @) (o

(Cy ) & @ (o)

D & @ © @



70. WIPO is the global forum for : 70. (vl (WIPO) 1A+ =2+l d(as ¥y

6
{a) Information Policy

(@ R Al
(b) International Property

(b) ld Y AYel
(c) Intellectual Property
(e) olllas Auel

(d) Intellectual Parameter
(@) ol[&s HIUES

(A) (@) and (d)
(A) (a) and (d)

(B) (a) and (¢) (B) (a) and (¢)

(C) (¢) and (&) {(C) (e) and b)

(D) (¢) and (d) (D) (¢) and (d)

71. Delphi technique is used for : 71 'Sesl’ WA W Guaped daa

97
(A) Performance measurement

(A) sl Tona WA
(B) Generation of ideas

(B) (Quizid u%«

{C) Quality control
(C) L [Asw

(D)} Library planning . .
(D) AWEY UL

L&LSAI 33 [P.T.O.]



72.

73.

{1

The

not

(A)

(B)

(C)

(D)

Browne charging system will

show :

When a particular book is to be

returned

Which books have been

borrowed earlier by a member
The number of books overdue

The number of books issued in

a subject

Match the following related with

management and select the correct

answer from the codes given

below it :

POSDCORB (@) Robert McNamara

W) TQM ) Peter Phyor
(i) ZBB (¢) Gulic and Urwick
(w) PPBS (d) Edward Deming

Codes :

@ @ @) (v

(A} () ) f{a) (&)

B) @ @ B ()

(Cy @ @@ ® @

M @ @« @) ()
L. &LS-II
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72.

73.

@

)]

()

(v}

sl Au—d wgla 9 eued saladl
Y] :

(A) 4issd Yads AU A Y

(B) 404 gl UG suL Yaasi e xaMi

vl 69
(C) 2ty (overdue) -l Yeasi-l vl

D) Wissa (@uuninl §y sl

videal, Yasidl vyl

dniaq Aol A Qsewld Asl ma

vlel siouiell Al™L Gr wde s3:

irssiol (@ RS WsAHIR
Asybin ® lex Bair
soflell © ylds 21 GAas

YIloflaAu @ sas siHa
siS ¢

@ @) @) G
(A) ©0 @ (@ &)
(B) &0 @ B (o)
(C) (&0 @ b)) @

M @ & b (@



74.

()

(i)

(i)

()

75.

Match the following related with
software and select the correct

answer from the codes given

below it :
DRUPAL (@} Integrated Library
Management Software
- Moodle (b) Dugital Library Software
DSpace (¢) Content Management

Software

Newgenlib (d) Learning Management

Software

Codes :

@ @ D v
(A) () f(a) @ &)
B © &) @@ (@
(€C) © W@ ) (a)
M @ & @© (@
The concept of assimilation comes
in :
(A) Long Range Reference Service
(B} Ready Reference Service
(C) Long and Ready Reference

_ Service

(D) Current Awareness Service

L&LS-HI

74.

(@)

(i)

(@)

(iv)

75.

AUised Aol AR [Qsevdid #st »id

WAL sismidl WAl B e 53

gua @ H-dids addl
Aol Alsedr

yse ® Slwed 4164 R
digedr

Sl (©)  srev2 WA%Hre Alsed?

3y Fdlon @) alfal A2 dlsedr

sS :

@ G G G

A ©@ @ @ ©®)
(B) 0 &) @ (2
C) ©@ @ & (@
® @& & ©

sicdAl Al [aetlanl 5§ dq wd

dsaddl 87

(A) auvt Aee! Jat

(B) Magd eel Al

(C) ctid wir Ut Aol Aqy

D) HedA »astif A4l

[P.T.0]



ROUGH WORK
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